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四级第1部分：阅读理解（第21～25题，每题1分，共5分）根

据下列文章,请回答 21～25 题。第 1 题 The failure to talk to each

other causes all of the following EXCEPT A．the high divorce rate.B

．a real family hour.C．the generation gap.D．some forms of

mental illness.【您的答案】：B 第 2 题 If we turned off TV for an

hour, which of the following is NOT true? A．We would not have

any problems.B．There would be a higher divorce rate.C．Families

could take a ride together.D．We would have a new view to

neighborhood.【您的答案】： B 第 3 题 According to the author

A．TV is more entertaining than good books.B．good books are as

entertaining as TV.C．good books are not so entertaining as TV.D

．good books are more entertaining than TV.【您的答案】：D 

第 4 题 Because young people nowadays don t read much A．they

find TV very entertaining.B．they have a lot of time for other

pastimes.C．they have enough time to talk to one another.D．even

college students cant write very well.【您的答案】： D 第 5 题

The idea of an hour without TV is NOT radical because A．TV is

very popular among people for only twenty-five years.B．TV is an

electronic baby-sitter.C．we might get better shows.D．radio

involves the listeners imagination.【您的答案】：A 100Test 下载
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